Polynomials WS 2 Name: Per:

Graph the following: 32?4 T + 2

3.
) 3x2 —2x —1
L. flz) = (@ -1z +2) (a) zeros: (find when numerator is zero)
(a) zeros (note multiplicity):

(b) graph

52 — 20
33 — 222
(a) zeros: (find when numerator is zero) (b) vertical asymptotes: (is denomina-
tor zero?)

2

(b) vertical asymptotes: (is denomina-~
tor zero?)

(c) hoizontal/oblque asymptotes: (look
at degree of n and m, divide if im-
proper)
(¢) hoizontal /oblque asymptotes: (look
at degree of n and m, divide if im-
proper)

d) Graph:
(@) P (d) Graph:



6z% + 623 — 182% — 61 + 12
Bz +2)(z+1)(z—1)

(a) zeros: (find when numerator is zero—
use synthetic division rather than fac-
toring....try dividing £1, 2, ..., look-
ing for a zero remainder)

(b) vertical asymptotes: (is denomina-
tor zero?)

(c) hoizontal/oblque asymptotes: (look
at degree of n and m, divide if im-

proper)

(d) Graph:
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20t + 223 — 622 —2x + 4

5.
622 + bx

(a) zeros: (find when numerator is zero)

(b) vertical asymptotes: (is denomina-
tor zero?)
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o
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hoizontal /oblque asymptotes: (look
at degree of n and m, divide if im-

proper)

(d) Graph:

(S +o)(I+ %) —x)d = + ©d — ‘w8l — Exd + *xd .sb
€ — 58 — Sul+ 8x& = (I — ) (I + x)(S + =€) .ob
(I—w)(I —x)(I4+x)d+x8) =b+ 28 — S5d — Exg + Pxg .58
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Graph the following:

1. f(z)=(z - 1)(z +2)?

(a) zeros (note multiplicity): | xS
(b) graph
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(a) zeros: (find when numerator is zero)
- ?, sl =

(b) vertical asymptotes: (is denomina-
tor zero?)
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(¢) hoizontal/oblque asymptotes: (look

at degree of n and m, divide if im-
proper) I S

A S

_ ‘3-’—'—-0
(d) Graph: .
. o H
\J
1 I/;;Z_‘

Name: W Per:

5 322+ T +2

(Bx+\ Nx 42
322 —22—1
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(a) zeros: (find when numerator is zero)
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(b) vertical asymptotes: (is denomina-
tor zero?)
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(c) hoizontal/oblque asymptotes: (look

at degree of n and m, divide if im-
proper)
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(d) Graph:
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(b) vertical asymptotes:
tor zero?)

(is denomina-

/
(c) hoizontal /oblque asymptotes: (look

at degree of n and m, divide if im-
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(a) zeros: (find when numerator is zero)
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(b) vertical asymptotes: (is denomina-

tor zero?)
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(c) hoizontal/oblque asymptotes: (look
at degree of n and m, divide if im-
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